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X 77,697 156,465 73,618 82,847 | ZFILUETAT 746 1,706 794 912
E 4,606 9,182 4212 4,970
BEKET1T 913 1,779 845 934 |EREFZHI2T 1,453 3,105 1,480 1,625
BEKET2T 393 789 364 425 5 1,453 3,105 1,480 1,625
B 1,306 2,568 1,209 1,359 |[R=E~EBT1T 250 751 363 388
< FE] BT 9,661 22,223 10442 11,781 |EE=E4~ER2T 293 544 269 275
Lt RER1T 365 551 282 269 |R=E~ERI3T 466 1,052 504 548
Tt RERT2T 251 462 219 243 |R=E~ ERT4T 202 415 190 225
Lt RER3T 246 406 211 195 |R=E+~ ER5T 349 615 311 304
Lt RERT4T 190 313 154 159 | 1,560 3,377 1,637 1,740
It RERST 185 364 181 183 | KEIFAT1T 793 1,613 759 854
Lt RERGT 107 219 110 109 | KEI1RAT2T 938 1,859 881 978
Lt RER7T 77 156 68 88 5| 1,731 3,472 1,640 1,832
TtRERST 145 220 117 103 (A RERT1T 179 291 123 168
g 1,566 2,691 1,342 1,349 [ RERT2T 154 324 162 162
tfEBET1T 286 581 266 315 | RERST 351 864 398 466
tfEBET2T 1,264 2,548 1,197 1,351 |FRERT4T 249 392 154 238
tfEBET3T 1,156 2,080 1,005 1,075 |FRERIST 158 338 153 185
tfEBET4T 1,034 2,105 1,014 1,091 | 1,001 2,209 990 1,219
g 3,740 7,314 3,482 3,832 |F{E AET 2,359 4,795 2,313 2,482
ERAET1T 655 1,442 706 736 | = AHT 266 463 222 241
ERATET2T 367 802 379 423 |BEEERMET1T 287 530 248 282
ERATETST 421 866 409 457 |BEE ERMET2T 595 1,153 564 589
g 1,443 3,110 1,494 1,616 (BEEHRMATST 820 1,551 718 833
==Yl 1,111 2,165 1,022 1,143 (B EEHRMET4T 850 1,675 802 873
HEWEET 321 519 217 302 |BEEERMETST 725 1,549 740 809
HERE2T 401 631 278 353 B 3,277 6,458 3,072 3,386
HEWREIIT 293 508 252 256 |EE SHMEILET1T 243 379 168 211
HEWE4AT 166 319 145 174 (BT B#BiLET2T 458 861 389 472
g 1,181 1,977 892 1,085 (B E#EiLATST 530 1,120 500 620
HEREET 1,647 2,858 1,210 1,648 (BT B#EILET4T 704 1,333 660 673
HEREET2T 2,728 5,597 2,550 3047 |BEEMBILAIST 785 1,593 767 826
HEREBEIIT 2,519 4,473 1,882 2,591 5| 2,720 5,286 2,484 2,802
HEFETAT 2,077 3,854 1,683 2171 |EE BT 1,096 1,942 952 990
HEREEIST 1,445 2,781 1,370 1,411 (B BiBAT2T 146 306 150 156
£t| 10416 19,563 8,695 10,868 (B EBEMAI3T 2,305 4,334 2,069 2,265
HUEET1T 844 2,144 1,031 1,113 B 3,547 6,582 3,171 3,411
HYERT2T 551 1,255 605 650 |BEETZET1T 634 1,244 562 682
g 1,395 3,399 1,636 1,763 (BB ZET2T 486 984 455 529
MEET 469 1,032 503 529 | BEETZEI3T 353 769 373 396
EET2T 346 773 378 395 B 1,473 2,997 1,390 1,607
g 815 1,805 881 924 |BEEEARETTT 696 1,282 611 671
WHAEET1T 772 1,784 823 961 |BEEEARET2T 266 591 294 297
WHEEET2T 223 486 228 258 |EEEARETST 1,070 2,346 1,109 1,237
RT3 T 893 1,707 873 834 B 2,032 4219 2,014 2205
g 1,888 3,977 1,924 2,053 |EE EBMEmET1T 328 702 326 376
RKEIRAT 5849 12,321 5,882 6,439 |EE BIEmPET2T 254 484 236 248
hRERTT 300 542 257 285 |BE EEmEET3T 695 1,395 666 729
hRER2T 185 302 147 155 B 1,277 2,581 1,228 1,353
hRERST 218 428 203 225 |J\TFdt 106 174 71 103
hRERT4T 299 536 256 280
B 1,002 1,808 863 945
o A BT 566 1,214 585 629
hEEEET1T 701 1,352 616 736
hEEEET2T 915 1,438 672 766
hEEEETST 480 1,123 528 595
hEEEET4T 787 1,497 740 757
hEEEEST 928 1,737 824 913
hEEEET6T 3,525 6,088 2,891 3,197
5| 7336 13,235 6,271 6,964
P =T 924 2,195 1,074 1,121
BAFBILETTT 1,033 2,051 966 1,085
BXEFILET2T 1,016 2,200 1,073 1,127
BEAEFILAIST 1,811 3,225 1,379 1,846




